Name: Date:

Teacher: Class:

Division 203

Did you hear about the teacher that had to wear sunglasses
in the classroom? She had extremely bright pupils!

Divide these numbers. HOW MANY?
Example: How many 2's go into 6?

L 4+92= 11. 22 =2 = 2l. 16+ 2=
2. g=1= 12. 721 = 2. §g+92=
3. 1+1= 13 5+1= 2310+ 2=
4. g=1= 4. g+2= 24 20+2=
5. 9.9 = 15. 4 +1 = 2. 14+2=
6. 3+:1-= 6. 8+1= 6. 2+1=
7. 10+ 1 = 17. 12 +2 = 2. 8+ 1=
8. 7x1= 18. §+2= 8. 18+2=
%> 10+2= 19 8+2= 2 6+2=
10. 9+1 = 2. g+1= 30. 2 =92 =
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L 4+2=2 1
2 6+1=6 12
3 1+1=1 13
4 9+1=9 14
5 2+2=1 15
6. 3-1=273 16
10+1=10 17
8. 7+1=7 18
% 10+2=5 19
0. 9g+1=9 20.

Answer Key Date:

Teacher: Class:

Division 203

Did you hear about the teacher that had to wear sunglasses
in the classroom? She had extremely bright pupils!

Divide these numbers. HOW MANY?
Example: How many 2's go into 6?

22 =2 =11 2. 16+ 2 = 8
717+1=7 2. 8-92=4
5+1=5 3. 10+2 =75
6+2=3 24 20+2=10
4-1=14 % 14+2=17
8+-1=28 6. 2-1=2
12+2=06 27. 8+1=8
6+2=3 2. 18+2=9
8+2=4 29. §+2=3
8+1=28 3. 2:92=1
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